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(25) 1. True-false. If the statement is (always) true, indicate a reason, if it is false, explain
why with a counterexample or a reason.
(a) If f(2) is analytlc in {|argz| < 7r} then there is an analytic function F' with
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(b) Ifuis don g’%%flere is an analytlc function f vvlth u = R(f).
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(c) The function u(z) log |z| harmonic for {1<J< |z| < 2}. Ll
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(d) Let o be a complex numb&. Then 19= 1. b rasn ;:J\ Z é&é 2 Trggr Hp
-y v o Lty o (AT 4l ) F

(e ) Let f be analytm at every point on the closed curve 'y Then f f (z) dz = 0)
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(15) 2. Let Q ={1< |z "“2/’2} Find a harmomc fﬂ rfé%l?ig\% i
and u(z) = —3 for {|z| = 2}. Include a drawing.
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(20) 3. (a) Carefully define (using the logarithm) the function 2™ Wlth z =1z + iy = re®
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(b) Use this definition to show that (d/dz)2™ = m2™1. él& @t ) \
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(40) 4. Short computations. 49 / ’
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(b) Compute the analytic function (we showed in class it is analytic!) /J) =
{lz|=1}
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